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1. ‘T Sve AeEEa Gt BR e g s ?
(1) s ETRis g TE. &St sievlt (LPG Connection) 3uH & us araTfires seamveerl
TR TR
(2) ¥= IMEEM 2017-18 1 quiawd! 5 FE wa. 6 f. shevft e 3fee I9< oM.
(3) AfectAT e Eaamn SUA SqoTeY HE drod] T GLE0T 0 BT 91 DS I8 R,
(4) @G AT 2016 A T FUAT AT,

Which one of the following statements about ‘Pradhan Mantri Ujjwala Yojana’' is not

correct ?
(1) fttis a social welfare scheme to provide LPG coennections in BPL Households.
(2) The Central Government has set a target of 5 crore LPG connections for 2017-18,

(3) The objective of the scheme is to safeguard the health of women by providing

them with clean cooking fuel.

(4) The scheme was launched in the year 2016.

2. Thm BR IR TR o7e S 21w T MR deRed’ @ IAa A| a5 HIv
19 v e 2R 7
(1) sl i St 9o
(2) W i o g
(3) Tra et forprer e
(4) wermEst e |@9eT g
Which name has been decided for ‘Scheme for Agromarine Processingi and Development
of Agro Processing Clusters’ ?
(1) Pradhan Mantri Fasal Bima Yojana
(2) Paramparagat Krishi Vikas Yojana
(3) Rashtriya Krishi Vikas Yojana
(4) Pradhan Mantri Kisan San;1pada Yojana

Hoodl HIMTATE! AFT/SPACE FOR ROUGH WORK
A P.T.O.
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3. SIS A= (37 Uiy AN Aifefeis )

< | ‘o
A, FRA i, ST A
q. HIEIR i, feEmE
. AEH iil. TR
3. Dafies iv. 9guH

(1) i i iv i

2 i i iooiv
@ v Wi i
(4 i i v
Match the pairs (Literary work of Arun Sadhu) :
‘A’ B’
A. Novel i. Sandyapna Kranti
B. Story collection - i, Sinhasan
C. Play iii. Mantrajagar
D. Educational iv. Padgham

A B C D
ay @i v

@ @i i v
@ v i di
@ i i v

4., ICITETR HEHIF] ILT ATAT I 1 IRY THER!, 2016 AL T8 T HHER

AY 7N 7
(1) 18 aem (2) T "R
(3) 4R (4) 7% wrdt, T favaw

Which scheme aimed at empowering the minorities launched in Jammu and Kashmir in
January, 2016 ?

(1) Nai Talaash (2) Naya Maseeha
(3) Nai Manzit (4) Nai Pragati, Naya Vishwas

ool HIHTATA! AT /SPACE FOR ROUGH WORK
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5. frqish sfteria amea wiefter fagm foemm wn .
A, @ AR 3 e wien wrdta ey Tefiet Yo IR,
4. W SR e e uRen T gey il weTg IR,
%. A = i R afen s gey iz Berg ok,
g W Wi i R e fem wfiten sy 1o Jeiier aarg IR,
et o faam ey amea ?
(1) {9, w (2 9,%,3
() A, &+, (4) A,9,F, 3
Consider the following statements in respect of Kidambi Srikant :

A. He is the first Indian male badminton player to win Australian open.

B. He is the first Indian male badminton player to win Indonesia open.

C. He s the first Indian male badminton player to win China open.

D. He is the first Indian male badminton player to win Swiss Grand Prix Gold.
Which of the statements given above are correct?

(1) A,B,C (3 B,C,D

(3) A, C,D | | (4 A,B,C,D

6. TgTd Faevs-2017 a4 @i S ffam g am 1

(1) T Fewren TaR 5o } e/ fien T S SAaee .

(2) TH Hew= UATS Hed ® Uaiea anET 3,

(8) IW oW RYFEN TwIT= TF U™ Hod Tl 8.

(4) e fauma gemren ToF qa™ Io9 gaid w6 8.

Which of the following statements about the Presidential Election-2017 is incorrect ?

(1) The value of vote of members of legislative assemblies depends on the
population of his or her state. _

(2) The value of vote of each members of Parliament’s vote remains the same.

(3) The value of each vote of member of legislative assembly of Uttar Pradesh had
highest value.

(4) The value of each vote of member of legislative assembly of Goa had the lowest
value.

HET HIHHTS! AR /SPACE FOR ROUGH WORK
A P.T.O.
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7. NRAR(E e W WMl a-Iws W)Mgﬁ%wﬂmgﬁmﬁmm@

? T Wi T TR,
(1) IaUEs (2) e
(3) feum= W (4) TeRYH

India’s first of its kind zero-emission electric bus service for tourist spotin India is launched
in the state of

(1) Uttarakhand (2) Meghalaya
(3) Himachal Pradesh (4) Rajasthan

8. VT SIS TR JuH T4 3hIeT BT T U JIiSe 3. € GIRTed BB

AH.

(1) g (2) F feee (3) e (4) g

The Sports Ministry of India has announced that it is planning to establish a first National
~ Sports Museum. This is proposed in city.

(1) Mumbali (2) New Delhi (3) Kolkata (4) Bengaluru

9. wiftena Mt 2017 Ned Yrarrre Hedid qée favumme f=m w0,

A, fasems a1 e IR TR,

. A w farfen o AR,

%. Tl TIFHS S .
TR Frowdh e/ a7 |

(1) shad ‘31 foum s 3R (2) %A T fgm SR o1

(3) %ad F RAYgH e IR (4) e qd forvm SR amRa
Consider the following statements in regards to Nobel Prize in literature 2017 .
A. The name of the winner is Kazuo Ishiguro.

B. He is an British Author.

C. He was born in Japan.

Which of the above statement is/are correct?

(1) Only statement A is correct (2) Only statement B is correct

(3) Only statement C is correct (4) All the above statements are correct

FHEsgT HIHTETS] AR/ SPACE FOR ROUGH WORK
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10. fomg-uom ) = wmem s s onftr ity faag 3mds o amss F
(T 31 ) Ff vifeen ae fwht oTR. @ wrEh 3RS A, '
(1) T R o :
(2) e Wl farma
(3) e ofmy fpra
(4) i wlaw em
The Union Cabinet has approved for a Memorandum of understanding (MoU) signed
among India and various BRICS countries for establishment of the BRICS-ARP. The
objective of this MoU is to promote
(1) Sustainable Health Development
{2) Sustainable Agricultural Development
{3) Sustainable Medicine Development
{4) Sustainable Environmenial Development

11. 9 3 .1, 308 Aien, TR Idise o 6 .M. e, 21 9die 957 3 6l e AR
T SEi®S g5 6 fh. . e @ 1 gz Smawm Rl 5 TR onnfir wiven v o 7
(1) 9 s, =fém @) 6%, ufrem |
(3) 12fsd, @ (4) 6., 3m
Suresh goes 3 km to North and turning to right he goes 6 km. Again he turns to his right
3 km and goes 1o left 6 km. How far is he from his original place and which direction ?
(1) 9 km, South (2) 6km, West '
(3) 12km, East {(4) 6 km, North

12, it & Ffme A1 sme. Frlr w1 wfvarien Aiat 9o siffamien em e, iy &1 v anfor

Giramien siem AR, B & e Wi R, &= Gald weH Hiv 3R 7
(1) ffe (2) vam
(3) it (4) Tffan
Ankila is older than Sangita. Girish is older than Sangita but younger than Ankita. Shirish
is younger than Shyam and Sangita. Sangita is older than Shyam. Who is youngest
among them ?
(1) Girish (2) Shyam
{3) Shirish (4) Sangita

FHoAT HIMTEIS! ATT/SPACE FOR ROUGH WORK

A P.T.O.
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13.

faam ; uwet WemEsy, g T
Td Gies e W,

HIA

|. Uwgl fTetsh, Txmeeh Al

II. el ferers, foerorasg @l
NI, Tt e & f3rerr Ra
IV. FTE firee § G 3IRd

(1) ad || 3TAW T
(3) | fefa 1Nl A T

Statements :

Conclusions

No educationisis are researchers.

All researchers are teachers.

L. Noteacher is researcher

il. No teacher is educationist
. Some researchers are teachers
IV. Some teachers are researchers

(1) Only conclusion Il true
(3) Either!lorlill true

(2) wFEl FAH T AT
(4) &3 |l 7007 |V TR & -

(2) None of the conclusions is true
(4) Onlyliland IV true

14.

4
5

7

11 587

8
(1) 0

| B
@ w

2 8 (3) 125

Find the missing number in the given figure.

4
SN

o3}
N
I

11 Y27

(1) 0

(2) 8 (3) 125

HoodT HINTETS! 9T /SPACE FOR ROUGH WORK
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15.

S ‘MACHINE’ I1 Y&e=T S ‘19--7-9—-14-15-20—11" 371@T 318 @ ‘DANGER’ a1
eI Hekd rel e et ?

(1) 11-7-20-16-11-24 (2) 13-7-20-9-11-25

(3) 10-7-20-13-11-24 (4) 13-7-20-10-11-25

If ‘MACHINE' is coded as ‘19-7-9-14-15-20-11’, how you will code ‘DANGER'’ ?
(1) 11-7-20-16-11-24 (2) 13-7-20-9-11-25

(3) 10-7-20-13-11-24 (4) 13-7-20-10-11-25

16.

Utren aga w6 fa=am wiaen = w1 Y3 TueTd Heamhied! 5.56 ar=an Hed ST a1 faen
e T U A, & Rash R Rl e wee gieef onfr f wymer dardt 4.50
Tt Sreraet. dt forea gurs {29 =Te ored. ara foen @i s o s Seer snfr d
o Aerie 20 ffR smeft A, @ feft 9 TTereh ¢

(1) 1am 4 ol

(2) 46 ffe

(3) 56 M _

(4) =f TErEvaEE T S Reeh Toeams T St Jur T

Usually Rasila meets her brother at her local railway station at 5.56 p.m. who rides her
to their residence. One day she left her office earlier and reached the station at 4.50 p.m.
She started walking toward her home, met her brother coming from their residence on
the way and they reached their home 20 minutes earlier than usual time. For how long
did she walk ?

(1) 1hr. 4 min.
(2) 46 minutes
(3) 56 minutes
(4) Cannot be calculated as time required for reaching home is not given

17.

YIS SRS GRS I SHaETE Th T2 FHAT AR, AR 7 Sl g s,
15 Awites Srerara ST 8 w1t SiieTara. ATeiiel BT $7f HosTe qu1 SHiofieT ot Sy sreha . aireh
el A8 IO heredTich! Tk T Ao WA TN S YRt SR 91 TeRiE 3 et aF ST
TeTd TS AT FRT A il T T <], IR S T NS o e fwe ?

(1) 22 (2 23 (3) 24 (4) 25

A group is gathered for discussing some problem related to water shortage. Of these 7
persons can speak Kannada, 15 can speak Tami! and 8 can speak Marathi. All of them
can understand English but none can speak. Each of them can speak one or more
regional languages that are mentioned here. If 3 persons of this group can speak two

languages and only 2 persons can speak all three languages then how many persons
are in this group ?

(1) 22 @) 23 (3) 24 (4) 25

A

o HHTATE ART/SPACE FOR ROUGH WORK

P.T.O,
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18.

Tger A1 HifhT= FfSeTrel Tehetd T et 318 & Hiferean i gt I #19 ?
(1) e (2) Ia (3) Tl 4) 1%

Rahul's mother is the only daughter of Monika's father. How is Monika's husband related
to Rahul ?

(1) Uncle (2) Father (3) Grandfather (4) Brother

19.

e feoret witrarem anfor srew anvaman _

afrare (A) : e FE) T A YA TR A g §id R, \

FW (R) :  omffe foramen fecier St amaraong scaffa dear som=n gias T
THTOT HTERETES YA 9166 38,

Sferaed et e o= gvia e gatd 3fia v fae.

(1) (A) T (R) 2t T o7 (R) 2 (A) T T TOedie 3T

(2) (A) 3 (R) =1 T o/ ahdl (R) 2 (A) = A TSt A1)

(3) (A) ¥ 3T W (R) & T TR

(4) (A) 38 IR WY (R) ? T3 TR

~ Study the assertion and reason given below :

Assertion (A): Over the past few decades there has been drastic global warming.

Reason (R): The push for economic development has increased to dangerous
proportions the emission of green house gases into atmosphere.

Select the most appropriate option that describe assertion and reason :

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

20.

A, Bd C 31 9gear A A= div fren dean oea. s A faore € C = guditen dH3 oem
30d W C <t e seien yaig fas.

(1) 11 2 9 3 7 4) 5

A B, C are three consecutive odd numbers in ascending order. If the value of three
times A is three less than two times C, select the option that gives value of C.

(1 11 (2 9 ) 7 (4) 5

W1 HIHTETS! ATT/SPACE FOR ROUGH WORK
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21. e EE.
ezt ATETT
A’ TR i, =T
9. WEleRe i, e fid
% Wem iii. AT
3. ayl v, el
A T < ¥
(1) iv i ii i
(2 i i i iv
(3) i v i
(4) i i i v
Match the following :
District Taluka
A. Chandrapur i. Chamoshi
B. Gadchiroli ii. Gond Pimpri
C. Bhandara iii. Mohadi
D. Wardha iv. Devli
A B C D
(1) v i i i
(2) i i i iv
(3) i ii iv il
(4) i i i v

FHoodt HITMTS AWT/SPACE FOR ROUGH WORK

A

P.T.0.
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22, 19 = YT SHIRG Fove! TS 9 e @ /TG A1 SISl Joal.

q. e T Il . T, R

¥. wgaela Fafem I, TEAT TRER Tea e

T. TRy TU3d YTHE V. <. 7R qiat e
A o <h S

ML onomo

@m 1w

@ omonv

@ oo

Match the following books published in the 19 century with their authors/editors :

A. Dictionary of Ancient Indian Historical 1. Shankar Pandurang Pandit

Information
B. Vedartha Yatna Il J.M. Gurjar
C. Shad-Darshana Chintanika ll. Raghunath Bhaskar Godbole
D. Marathi transiation of Manusmriti V. Dr. Mahadev Moreshwar Kunte

A B C D

M1ronomv
@ m 1o
@1 mouv
(@ v 1w m

Hoed] HINTAE! ARM/SPACE FOR ROUGH WORK
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23. i goad 9 i Sy vl S o T g Sieen geE,

3. HERTR . 3mUEd
9. dEHd Il. FEaHS
%, WM M. 3wk
g @ fegeM | V. TR
- B k4 '
(1) 1 i Wl v
@n oo
(3) v 1 ] I
4 m v n I
Match the following newspapers and the places from where they were published.
A. Mabharashira l. Amravati '
B. Lokamat [l. Yeotmal
C. Matrubhumi lil. Akola
D. Swatantra Hindustan IV. Nagpur
A B C D
(1) 1 Il il v
@n 1 ovon
(3) Iv | Il |
@m v oo [
24, i1 WICHTETR FTTE 3T gt wudia ‘Raafa’ fafe.
(1) SIRRE MIFETE (2) qUEWE WEe
(3) I HEWIS (4) T
Due to the encouragement givenby | Krishnaji Arjun Keluskar wrote
‘Shivacharitra’ in Marathi.
(1) Sayajirao Gaikwad (2) Yashwantrao Bhosale
(3) Shahu Maharaj (4) Tarabai
25. SR I, THF T 3701 3f e wed & TeESt gaa St
(1) SrniaaE (@) i s
(3) HeammHEH! (4) Twpmeh e
Badoda Vatsal, Raghav Bhushan and Ambalahari were the newspapers by
(1) Lokhitvadi (2) Arya samajists
(3) Satyashodhaks (4) Vishnushastri Chiplunkar

THoedT HhIRTETS! IFT/SPACE FOR ROUGH WORK
A P.T.O.
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26. e e s s
(1) Heoom @ g (2) s iR
(3) =gw Wd (4) Rrsmn Fiss
Pick out the odd person from the following.
(1) Mallappa Dhan Shetty (2} Jagannath Shinde
(3) Abdul Rasul (4) Siddhappa Kambili
27. TeRTZ TN foam _ o ramad 76 {@gareeH IR,
(1) 76° 46 ;80°52 (2) 72°36";80°54
(3) ?1"{36’ ; 80° 55 (4) 72°46;80° 54

The State of Maharashtra is extended between
East longitude.

East longitude to

(1) 76°46° :B0° 52 (2) 72°36 :80° 54’
(3) 71°36": 80° 55’ (4) 72°46:80°54°
28. Sire=n w&n
IEEaU| ATIROI
#A. F7QW i, W)
|, AR ii. T
¥, WEW jii. AT
2. gyl iv. 99
I R - S |
(1) v i ii i
2y i iv it i
(3) ii i iv i
@ @it v
Match the following :
Place Sanctuary/Park
- A. Chandrapur i. Bor
B. Nagpur ii. Navegao
C. Bhandara iti. Tadoba
D. Wardha iv. Pench
A B C D
(1) v i ii j
2y i iv i i
(3) i i iv il
(4) i v I i

Hood! HWTHTE ARN/SPACE FOR ROUGH WORK
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29. ardt = horen Rrewngy To0d T Ja9 4 ?

(1) S| (2) TR=E
(3) AR o (4) 4=
The river Tapi enters in Gujarat State from which district ?
(1) Jalgao . (2) Nashik
(3) Nandurbar (4) Dhule
30. WIS EH AT 73 fermTe .
(1) a1 % | (2) a1 He
(3) IR % (4) GIAHTST B
Satpura is divided into two parts due to
(1) Ajanta gap (2) Narmada gap
(3) Barhanpur gap (4) Satmala gap
a1, TSN WETIR TITd Tsgud) TS TR T 3.
A, AT=R 356 - q. AT=R 352
F. ATHR 360 3. =R 365
(1) waa A (2) v A, 9 (3) wH A, 8 (4) &R A, H
A President’s Rule can be imposed in a State under the provision of
A. Article 356 B. Article 352
C. Article 360 D. Article 365
(1) Only A (2) Only A, B (3) Only A,D (4) OnlyA,C

32. YRGS Gt Fioen Tsames fum gitve sfdeme o 2

o faEr q. FHAleH
. demm 3. HeEgEew
(1) AT, (2) FA,F,8 () ¥F[A,F,T (4 NI, F,T
Legislative Council is existed in which of the following States of India ?
A. Bihar B. Karnataka
C. Telangana D. Madhya Pradesh
(1) OnlyA,B,C (2) OnlyA,B,D (3) OnlyB,C,D (4) OnlyA,C,D

FHoedn THIMTETS! ARTT/SPACE FOR ROUGH WORK

A P.T.O.
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33. T T /FR M.
¥, fyhm=n frareda 32 g aTea.
¥. faumasta wifa il gaw @& 60 3w,
(1) o (2) ®ad o
(3) =1 a7ifor @ Sl : : (4) 7 3for & SR AT
Select the correctstatement/statements.
A. Legislative Assembly of Sikkim has 32 members.
B. The minimum number of members in Legislative Assembly is 60.
(1) Only A (2) OnlyB
(3) Both AandB (4) Neither A nor B

34. I TR /FEA AeE.
A, T gt e Tsaue FRe.
q. TSI ARUaT STRRTI=AT ST JHH TIITe T,
&, Ied ATerETe rEneEE e Tsaare st
(1) a3 (2) % A, 9 (3) WG A, (4) I wd
Select the correctstatement/statements :
A. The Governor appoints Advocate General of State.
B. The Governor appoints Chairman of State Public Service Commission.

C. The Governor appoints the Judges of High Court. _
(1) Only A (2) Only A,B (3) OnlyA,C (4) All of the above

35. TF=ie 12 JOR ‘TS9 Wed Il gHEw 2l

. O™ e § FHE

4. Yok U T 1 faftres

&, 9d wTie gren (@nate, feer a8

T, wida s e g

(1) T/ 27, 9,8 (2) SR A, 9, % (3) S A, d (4) alfer &d

Under Article 12, ‘The State’ includes

A. The Government and Parliament of India

B. The Government and Legislature of each State

C. Al local Authorities (Municipalities, District Boards)

D. Authorities under the control of Government of India '
(1) OnlyA,B,D (2) OnlyA,B,C (3) Only A, B (4) Ali of the above

ST RIWETS! ATTT/SPACE FOR ROUGH WORK
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36.

mmmmwmmm?
. g RgEd 9 gt

9. Fwlr glan

%, oI 9 \el TRl

3. AETHAW ST e %lmﬁn i

(1) S, 9,F (2) R A, 9,3 (3) $H,$,3 (4) I T
Which are the provisions of Indian Constitution related with the Independence of
Judiciary ?

A. Appointment and removal of Judges

B. Security of tenure

C. Salaries and service conditions

D. Power to punish for contempt of Court

(1) OnlyA,B,C (2) OnlyA,B,D- (3) OnlyB,C,D (4) Allofthe above

37.

TN FHUTAS Sd-TraTad @iciierieh! ®ivican Arieyic et a1 TsTaed weie 7787 7

(1) USRI EETd § THHES oY TEuare! w/ ),

(2) TG FTE1 AT q7 AT Feleg = TH TE.

(3) HTAWE e TARMGa fiefivamg Wagmea <o,

Which of the following Directive Principle has not been included in the Constitution
with regard to conduct of international relations ?

(1} Work for the maintenance of just and honourable relations between nations.

(2) Show respect for international law and treaty obligations.

(3) Encourage settiement of international disputes through arbitration.

(4) Work for disarmament.

38.

YRATT TFa9e- EIATETieh! 0T Jengd AERRR §1 e TR AR Reren 38 7
(1) aaramg% FHAMG €9 (IT87 14)

(2) @A ERR (3T 19)

(3) wrefies firemomen g (7T 21A)

(4) Shfea 3 safroma @A™ S (= 21)

The Indian Constitution provides which one of the following fundamental right only to
Indian Citizens ?

(1) Right to Equality Before Law (Anticle — 14)

(2) Right to Freedom (Article - 19)

(3) Right to Elementary Education (Article — 21A)

(4) Right to Protection of Life and Personal Liberty (Article — 21)

wHooql HITATS! JANT/SPACE FOR ROUGH WORK

A
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39, VA UsHee<! Wil afvrseal 3nfi7 e S Jr=ar siiewn e

ELR LD TSqHEAT
¥, =rEedE gafdee . 3<ie
q. FEEE AR Il oTifERT
%F. VuIfteRR g . sFieferan
s gHadi gl V. eI
A 9 w g
(1 n | v
@ | Il il v
(3) | Il v n
@ n I v
Match the following features of the Indian Constitution and their sources :
Feature Constitution
A. Judicial review l. England
B. Rule of law Il. USA
C. Residuary powers with the centre  Ill. Australia
D. The concurrent list IV. Canada
A B Cc D
(ny n v il
(2) | Il 1 IV
@1 v o
@ n Il v

40. Y TRAT= FETIEEG @iete faum e =,
. TEAT T AU AT 37 3.
q, FETTHTS a1 ARSI ST AT AqT.
% qEm T Eftmeeren st Hia wum w1 S el
TSR Fv Rum/A aravamR /g ?
(1) Fad A (2) % & (3) TR, (4) #,9, %
Consider the following statements about the Preamble of the Indian Constitution.
A. The Preamble is an integral part of the Constitution.
B. The provisions of the Preamble can be enforced by the Court.
C. Preamble can work as source of power to the Legislature.
Which of the statements given above is/are correct ?
(1) Only A (2) OnlyC (3) OnlyB,C (4) A B,C
WO HIATAIS! SMT/SPACE FOR ROUGH WORK
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41. wieden sifter i @ Stom il den TR ?
(1) aEwPrs mitrRoraed aastwar o
(2) wrEtE MitERvT= FHE SETEEH Ao
(3) wfedh STRIFATERATE TRITHAT F0
(4) bt wd
The Right to Information Act was passed with following objectives.
(1) Creating transparency in public authorities
(2) Creating accountability in functions of public authority

(3) Constituting the Information Commissions
(4) All of above

42. wfed After wmer, 2005 = ok’ g @id M FEaeia T T Tt
m

1. wgfa o

9. aEm TRk

F. N TAEHY

3. WREHA a8

Fietht wvR fum /R avtay ama ?

(1) e 31 (2) w1 S
(3) 1, W& (4) ¥R T

Under Right to Information Act, 2005, "prescribed" means rules made under this Act
by the

A. Appropriate Government

B. Competent Authority

C. High Courts

D. Administrative Tribunals

Which of the statement given above is/are correct?

(1) Only A (2) Only Aand B
(3) OnlyA,BandC . (4) OnlyD

43. wifedt srferm e, 2005 AT Fror TGETER AT AT siiRemR’ e e o ?

(1) =W 2 (2) % 3 (3) e 4 (4) M 5
Which provision of the Right to Information Act, 2005 provides “Right to Information” to
citizens ?
(1) Section 2 (2) Section 3 (3) Section 4 (4) Section 5
HET HIATATS! ART/SPACE FOR ROUGH WORK
A P.T.O.
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44. Wieheh! thegl T Wited! ST fhar wifeeh ST ST YaEE [ e A 7
. TOdi=aT ST Fai=d <IHeaH R Feamat

Flereh! Ford e/ faem e omRa ?

(1) ®F A (2) wbw ud

(3) &ty (4) =anfor=

The Chief Information Commissioner or any Information Commissioner shall be removed
from his office only

A. By recommendation of Prime Minister to the President

B. Ona reference of the Supreme Court by order of the President

C. On the ground of proved misbehaviour or incapacity

D. By order of the President after giving judgement by High Court
Which of the statement given above is/are correct ?

o M oo

(1) Oniy A (2) All above
(3) CandD (4) BandC
45. ATl TR 7T A,
(1) wfemms srfmn (2) TeATeHE AlFR
(3) Auwfw iR ' (4) FhAth wEE A
Right to information is
(1) Contractual Right (2) Constitutional Right
(3) Statutory Right (4) None of the above
46. T o farfremmed frge ot < S o e v T @ fefrea
i TR T T ofsets Y e S ygdaTe w5,
(1) sradia faer fafeen (2) 3ifden fFr fafeen
(3) i e fafeew (4) Aftmfes frer fafen

means a system of secure key pair consisting of a “private key” for creating
a digital signature and a “public key"” to verify the digital signature.

(1) Ascertain Crypto System - (2) Acting Crypto System
(3) Asynchronous Crypto System (4) Asymmetric Crypto System

wood| hTHETE! AT/ SPACE FOR ROUGH WORK
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47.

HIUERT BTATE ST W13 RvaEReT ST9ugTd oA STy FT e | 7

(1) "= (2) fix (3) =R (4) st T

The external device used to store an image by optical reading is termed as

(1) Monitor (2) Printer (3) Scanner (4) None of the above

managqm#%?ﬁwﬁz(mmb)%%ﬁmaﬁnémﬁmﬁﬁamww
TR FeTet! T " IR,
(1) 387 (2) 3= (3) 3-heul (4) 3-fren

Ministry of Human Resource Development of Govt. of India which aims at creating digital
learning environment for design in India with ICT.

(1) e-sagu (2) e-tutor | (3) e-kalpa (4) e-shiksha
49, W.UE.IARAA ® W WITeT, fogam, wiertd 9 3o TR arvion & s wisht
THId SeEy TRfiere’ a1 gR Gt .
(1) HEK (2) 3-&eie (3) faqam (4) z-fad
MHRD’s project is premier database of profile of scientist and researches

and other faculty leading academic |nstitut|ons to record of R and D organisations
developed by INFLIBNET'.

(1) Sanskar (2) E-Tallent (3) Vidwan (4) E-Research

50.

TITERTST TRTRTER fRenfaes (Kb) @ w3 frdt faem axfas smama ¢

(1) = &R foc@ (2) U TR I faeg

(3) % TR 91219 faem (4) ThaUh T

The actual number of ‘Bits’ shown by the term Kb (Kilobits) in reference to computer
terminology is

(1) 1000 bits (2) 1024 bits

(3) 1040 bits . (4) None of the above

51.

TV TRMTAER ATRel Somd A, . (TB) & w37 51 v F@ 7

(1) worRrT feremog (2) 0 frem

(3) U =@ (4) ahEth T

In reference to the computer terminology the term ‘TB’ stands for
(1) Computer virus (2) Tera Bits

(3) TeraBytes (4) None of the above

HoedT HFHTHTE] ARTT/SPACE FOR ROUGH WORK

A
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52, el e wiéern faRRA it e e affwEy sfafif? g e am ?
(1) -7 (2) 3-7d (3 I-wdiere  (4) RAlT
Which is the centifying authority listed below certified by Controller of Certifying
Authorities of India for Digital Certificates ?

(1) D-mudra (2) e-mudhra (3) D-ceriificate  (4) DCA

53. SRAM, DRAM, EDO-RAM ? &7ur AR YehR A7 F9meil] Hafig 3TRd 7

(1) Ten Tadw awd (2) T 3l 3w

(3) &8 few Amdl (4) T

SRAM, DRAM, EDQ-RAM are the computer memory types related to
(1) Random Access Memory (2) Read Only Memory

(3) Hard Disk Memory (4) None of the above

54. EIUERTET A7 FTEfavarsa] 3amA @97, 3 I (CPU and RAM) 3= Stieviia wiefieide s

AT T ? |
(1) 8 (ROM) (2) %91 (Cache) Bl

(3) &8 fewp At (4) ThEdH T

An interface used between CPU and RAM to boost the speed is termed as
(1) ROM (2) Cache memory

(3) Hard disk memory (4) None of the above

55. WIeHeryeh! IR a1 TR WY /e S 7

(1) Hewars (2) w16 fe=

(3) "z, (4) FhTUh T
Which among the below is termed as ‘Brain’ of the computer ?
(1) Motherboard (2) Hard Disk

(3) C.P.U. (4) None of the above

TSI HIATATE ANT/SPACE FOR ROUGH WORK
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© 56, faum uitees A sremn w® FvaEEe @t fam fewa @

3. Rrum iy i w0 s T REaEEas ARER g 169 I TERe TR,

4. Y fRuw e fmin wrErEh oM vEr s T STt o @ wafta TS
forarren aE atE ATe SEAAT A 1 STEYEE 3.

F. HHened A\ 3 /fifiem 1 ren SgEaR A Fe Sl

TR PR faum /A adevem /4 ?

(1) & o (2) 1,9, % ) 9,% (4) 3,

Consider the following statements about creation and abolition of Legislative Council.

A. The Parliament under Article 169 is empowered to create or abolish the
Legislature Council

B. Where the Legislative Council is to be created or abolished the concerned State
Legislature Assembly should pass a resolution to this effect by a simple majority

C. In Parliament, such a Resolution/Act is passed by a simple majority.
Which one of the statements given above is/are correct ?
(1) A only (2) A,B,C (3) B,C (4) A, C

57. TWHICeh HI0ca] Swdid e s w6 1@ saw uew ts Rfttesm v

TEATGER 0 T B ¢
(1) ur=a gitfiree (2) Te™ Thfire
(3) @R Tifire (4) T wifime

Which one of the following matters on which amendment is possible only with the
ratification of the legislatures of not less than one-half of the States ?

(1) Fifth schedule (2) Sixth schedule
(3) Seventh schedule (4) Second schedule

58. @i v SRR TeauTe e faent iR ars e A ?
(1) R FTATE T8ITen TR Tgha e e deet qeans A
(2) TRE(S T AT Yl AR T4 EaHE e
(3) frurmenta sgwaren Niden TETen gEHAT e star s e Ream
(4) TaurTenia wIse TgHaTET WIS TGN R R SER st gedl e

Under which of the following circumstances, Governor cannot use his individual
discretionary power ?

(1) Appointment of the Chief Minister when no party has clear majority

(2) Appointment of the Chief Minister when the Chief Minister in office dies suddenly

(3) Dissolution of the Assembly on the advice of the Chief Minister who has lost
majority support of Assembly

(4) Dissolution of the Assembly on the advice of the Chief Minister who has clear
majority in Assembly

HeTT HWTHTSY AT/ SPACE FOR ROUGH WORK
A P.T.O.
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59.

reita faum fasmme =,
H. AL 16T I AAFTEE T 5.5 0, T S19E 3Ea 1948 ALl Wit Sl
9. fRorfts 9t Toem fnrem T grtee srfifaemER e,
%. fonfe s ooam e aia e siftfammR o,
FUR Fiv fum /4 FRiaTamR /a7
M #,9 (2) #A, = (3) TH & (4) B S
Consider the following statements :

A. The JVP Committee under the Chairmanship of Jawaharlal Nehru submitted its
report in 1948

B. The Bilingual State of Bombay was divided by the State Reorganisation Act

C. The Bilingual State of Bombay was divided by the Bombay Reorganisation Act
Which of the above statements is/are correct ?

(1) A B (2) A, C (3) Conly (4) Bonly

60.

AT fdae 3 AR R Eeid Ry e =0

. s 3 derramigEE o6 ge Raeus AgaT= SteEt e, WY 9w
ATicTshgd@R (Order of precedence) TSTRN=AT IUTAHTIET FTET 3R,

. R orE 3 o giieer (Audit and Accounts Department) fsmmmsfie Badie safRr=m
Yo a1d) Frmes 9 AreETTes @ UeudslsR Aeeaerd e T waw.

(1) fawma ‘e’ st (2 fawm ‘@ s

(3) =g faum s (4) I faum TR

Consider the following statements regarding the Comptroller and Auditor General

of India :

A. The CAG enjoys the same status as that of Chief Election Commissioner, but
higher than the Deputy Chairman of Rajyasabha according to the order of
precedence ‘

B. The conditions of service of persons serving in the Indian Audit and Accounts
Department are prescribed by the CAG after consultation with the President
(1) Statement'A’is correct (2) Statement ‘B’ is correct
(3) Both the statements are correct (4) Both the statements are false

wEAT HIHTETS! AT /SPACE FOR ROUGH WORK
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61. @feamer v @ gg@™ W (hierarchy) A9l ot
(1) ufE - ge-afE - stfifee ofve - s afve - u-afse - e wfE
(2) wfa - s afwE - F AR - Te-ufE - JU-aRE - TEE afE
(3) afia - we-ufia - Ju-vfva - s afE - wa A
(4) afvya - ve-ufa - sifalaa ofiva - s afva - geras afve - Ju-vhE
The correct hierarchy of the Secretarial Department is

(1) Secretary — Joint Secretary — Additional Secretary — Under Secretary — Deputy
Secretary — Assistant Secretary

(2) Secretary — Additional Secretary — Under Secretary — Joint Secretary — Deputy
Secretary — Assistant Secretary

(3) Secretary — Joint Secretary — Deputy Secretary — Under Secretary — Section
Officer

(4) Secretary — Joint Secretary — Additional Secretary — Under Secretary — Assistant
Secretary — Deputy Secretary

62. Weme aimacET et wun /& FE /3 R /q ?
A, Feleen S favafem mmw w=m
4, Fae g afEeETeTs gera [TE
F. WAL AT T 129 F:O

(1) A (2) = arrforsh
(3) Fafrw (4) 31, a1 s

Which of the fallowing is/are the function/functions of the Cabinet Secretariat ?
A. Preparation of Agenda for Cabinet Meetings
B. Secretarial assistance to Cabinet Committees
C. Allocation of financial resources to the Ministers

Select the correct options given below.

(1) Only A (2) BandC

(3) AandB (4) A, BandC

Hoodl RETATS! WTT/SPACE FOR ROUGH WORK
A P.T.O.
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63. Greha fRum femm .

A, 95 = HeAIgEw ! Ffafm - 2009 s ST o T furEsdie srgEfe
ST it STt SveaTdt e ST e 2020 w9 awfiva o R,

9. IR TsEeen ag=ae - 334 I wnhie gy aftaiad! tdis s g TE
anftr rev Afteied! Tes s m Tt qediand mifte .

(1) faum ‘a1’ s (2) faum T s

(3) I fum s (4) TR fuA =R

Consider the following statements :

A. 95t Amendment Act of 2009 extended the period of reservation of seats for the
- SC/ST in the Loksabha and the State Legislative Assemblies till 2020.

B. Article 334 of the Indian Constitution did not provided the reservation of seats for
women in the local bodies and hence reservation for women is not restricted for a
specific period.

(1) Statement ‘A’ is correct (2) Statement ‘B’ is correct

(3) Both the statements are correct (4) Both the statements are false

64. TATTIIH! FIM FoT FRFH By 3 ameq ?

&, Tegud a. dhmee

F. HEHIEETE 3. AT P 9 meerandiss

(1) 31,9, € 2 9,+, T (3 A, 9, =+ (4 #,%,3
Who among the following are part of the Union Executive of India 7

A. The President B. Council of Ministers

C. Attorney General _ D. Comptroller and Auditor of India
(1) A BD (2 B,C,D (3) A B,C (4) A C,D

65. YW Teaae e aTear TRiRTewie TeagEmed Ag shelen /S Sivrn/d fow asfra gt
Reeht yATen FRAARH f¥vER TrevEn e/ 7

o FEHE T a. TRm
&, AqHHA B
(1) &% (2 #,3 (3) &, 9, % (4) 31,9, %98

Which of the following subjects mentioned in the State list of the seventh schedule in
the Indian Constitution was/were specifically excluded from the jurisdiction of the Gowt.
of Nationai Capital Territory of Delhi ?

A. Public Security B. Police
C. Land D. Taxes :
(1) B only (2) A B (3) A B,C (4) A,B,CandD

FHeedT HHTHTE! ARTT/SPACE FOR ROUGH WORK
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66. T HEIaaEeat] @efie fasna e =

.

q.
.

€.

Ioa RTaTE FET W g At S otdar eed ff QresEes ST Evh
ATd.

I=0 AT AU FAEUR G SRiteER BEe 9 e Sl 39 .
Ted A A S HYT 9d o 98 e,
T4 HieeT et @ a1 STIedT g UEal.

Fheeh! Fv faum /A avdar s /a ?
(1) ¥, 9,8 (2) a,q, & (8) T B (4) e ¥
Consider the following statements regarding an Advocate General of a State

A
B.

C.
D.

He must be person who is qualified to be appointed a judge of a High Coust

He enjoys all the privileges and immunities that are available to a Judge of a
High Court

He receives remuneration that is available to a Judge of a High Coust
He holds office during the pleasure of the State Cquncii of Ministers

Which of the statements given above is/are correct ?
(1) A,B,D (2) A,B,C (3) OnlyD (4) Only A

67.

TG =T IO e e T S waifed g 7

(1) 73 gflum gEdt (2) 86 < wiRum gl
(3) 87 = wlaum gt - (4) 91 <t wiaum gl
Which Amendment of the Constitution of India limits the number of Ministers ?
(1) 73" Amendment (2) 86" Amendment
(3) 87" Amendment (4) 91 Amendment
68. WRARE Tegudl Y= FaguhRia SHear AHTFA FgA Yiaa Hel 9.

(1) =ifta =it TR I TR

(2) Ffa i GEe T= 9T

(3) it w Frates Hea™ T we=

(4) wa w=it Fafes Teo™ <@ wew

The nomination of a candidate for election o the ofﬁce of the President in India is proposed by
(1) Atleast five citizens of india

(2) Atleast five members of the Parliament

(3) Atleast fifty members of the Electoral College

(4) Atleastten members of the Electoral College

FHooql FINWTI WRT/SPACE FOR ROUGH WORK

A

P.T.O.



69. MRATdIE FAUFR FaW 75 2 GEid FIVAT aqa! AR ¢
. HhaReg ANy anjfRsicn Sawen kd
*. NI Fooll @ ASd 0AMEIE) TavuH Ageaw Hhuiye ofw
T, WA A9 9 WA YEREHEH e SIRfie

hod 28 P10

wrehe Rciean Terarm 77 s fas.
(1) 27, % i % Hax (2) A, g Fae
(3) 9, il s Fa> (4) =le =d

Which of the following one the provisions of Article 75 of the Constitution in India ?
a. Ministers shall be appointed by the President on the advice of Prime Minister
b. The Council of Ministers shall be collectively responsible to the House of People

¢. There shall be a Council of Ministers with the Prime Minister to aid and advice to
the President of India

d. The salaries and allowances of Ministers shall be determined by Parliament
Choose the correct answers from the codes given below.
(1) a,bandconly (2) a, banddonly
(3) b,candd only (4) All above

70. YRAR Qared AR i g vt iR Fioer o ?

(1) vasam (2) WWATE qE AT

(3) "&= (4) ot ot

To whom has the right to increase the number of Judges in the Supreme Court of India ?
(1) Prime Minister (2) Chief Justice of India

(3) Parliament {(4) Law Minister

71. GRS o TRt TETEY FHUATTE] YR TSTe- 18 HUATE! $19Y S A ?

. gt 9. ITegHd]

. Ya9gH 3. ST T

(1) 1 % (2) aanfra (3) F,IAMF  (4) A9, %AW
Who among the following dignitaries has to take an oath to defend the Constitution of
India before taking up post ?

A. President B. Vice-President

C. Prime Minister D. Speaker of Lok Sabha

(1) A only (2) AandB (3) A,BandC  (4) A, B,CandD

Hoea1 SIS IRT/SPACE FOR ROUGH WORK
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72. Griw faum e e

A, WRAE T Agese-332 well Twren fymedia stqgfea st anfor srggfm
SHTATHTIES T ST aXqg Foam el 1.

4. e wenrr 29 framen wagwEy @ Aqgiia sdfter stearietd! e .

. GO HERTR 25 foremenn waewes ® ggfea s IHearEd adie HRa.

Tt v faum /3 @er Ry ?

(1) S H (2) |1, (3 9, (4) #1,9,%

Consider the following statements :

A. Aricle — 332 of the Indian Constitution deals with the reservation of seats for
Scheduled Castes and Scheduled Tribes in the Legislative Assembly of the States.

B. Atpresent, in Maharashtra, 29 constituencies are reserved for the candidates
belonging to the Scheduled Castes.

C. Atpresent, in Maharashtra, 25 constituencies are reserved for the candidates
belonging to the Scheduled Tribes.

“ Which of the above statements is/are correét ?
(1) A only (2) A, B 3 B,C (4) A,BC

73. ‘Y@ v S1Ed @eliw faym foeme en
A, TR AT ) Tl
o, T Seoid HIES Ggdre e ong,
. THAM FRYTE A TR g1 T THvaqul IuHEe TR,
2 WWWWMWM@WWWWWWW.
FleTdR! Frd faue FvigraaRg ?
(1) &1,9,% (2 #1,%, 3 3 9, 4) {1,9,
Consider the following statements regarding ‘Zero Hour.
A. It follows the question hour
B. It mentioned in the rules of procedure
C. ltis an Indian innovation in the field of pariamentary procedure
D. During zero hour, members are free to bring up any issue of public interest
without prior notice
Which of the statements given above are correct ?
_ (1) A,B,C (2) A, C,D (3) B,C,D (4 ABD
FEeAT HHTETS! ATTT/SPACE FOR ROUGH WORK _
A P.T.O.
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74, meﬁwaﬁmﬁﬁ@;ﬁéﬁuﬁﬁaﬁm:

A, AT Riftres e Sieng v 7eET SR 3] AT STH7 e e
TETE FF THAN.

. A o= FafiresTen dew wiie F& .
%. A voifa smsen Rdusesy v fftdeem aon ey .
2. R fadas Arfesis awnfars o @ & usgadiear e frdas tga 39 s

et vt fou™ geiayeTRa ?

(1) 3,%, 3 2 #,9,% (3 «,%,3 (4) 1,9,

Consider the following statements about the legislative powers of the Governor of the
State :

A. He can summons or prorogue the Session of State Legislature and dissolve the
State Legisiative assembly

B. He can adjourn the sittings of the State Legislature

C. He can send messages to State Legislature with respect to a pending Bill

D. He can reserve the Bill for consideration of the President if it opposed to the
Directive Principle

Which of the statements given above are correct ?

(1) A C,D (2) A,B,C (3) B,C,D (4) A, B,D

75. wERrere faftmees aiid wgdioea Teftath wive fiym srierae 7
(1) == aftden ge@r org v T
(2) S ITEue T wiidia e o8 T A A9 o G Aoy wvg e wies
(3) wftden e 81 TN 6 el
(4) aftd=h mrrEm e i TR GWTEE e U A ] Saw T ST S
Which one of the following statements is incorrect about the Legislative Committee
System in Maharashtra ? ‘
(1) A minister shall not be a member of the Committee

(2) If the Deputy speaker is a member of the Committee, he shalil be appointed in a
Chairman of the Committee

(3) A member of a Committee shall be eligible for renomination

(4) The quorum of a Committee shall be as near as may be one third of the total
number of members of the Committee

FE] HIATATET SFTT/SPACE FOR ROUGH WORK
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76. @iefer R fewe =

3., YRA TS § Tameie HRmEt i o,

¥, ‘TrvEa geshran stfoaanefi @9 (Indestructible Union of Destructible Units) /@ wRe
TSI Hated AR FRig Jgas e,

F. ‘faemslt vear seten o rfemeht @9 (Indestructible Union composed of
Indestructible States) 3@ RE ToRIEEd =i GaT=d TEEHEN TUH F R,
FleAyh Hrd faur /faam avaramR/eRa ?

(1) 31,9 (2) w9 (3) q = (4) ®HR &

Consider the following statements :

A. The Indian Federation is the result of an agreement among the States.

B. The Indian Federation has been observed by Supreme Court as an
‘Indestructible Union of Destructible Units’.

C. The American Federation has been described by their Supreme Court as ‘an
Indestructible Union composed of Indestructible States’.

Which of the above statements is/are correct?
(1) A, B (2) OnlyB (3) BandC (4) OnyC

77.

Tram (A) : R SR FET, 1935 IFER INIRER F3 faftnesmws i g,

wWOT (R) : W SR FRET, 1935 STIER Hesdi, Wi AT awed] o fF gme
ferrelt fenmmoft aheft reft 2.

(1) A a7t R Sretet Tter 3a R % A & 979 TOedeto 3T

(2) A onfir R Sréte) SR 3TRd Wy R ? A 3 A wasdiaRtor et

(3) A TUSR AR W R IF IR ‘

(4) A9%H AR W R TR 3R

Assertion (A) ;: Under the Government of India Act, 1935, the Residuary Powers were
vested in the Central Legislature.

Reason (R) : Under the Government of India Act, 1935 subjects are divided into
three lists viz. Federal, Provincial and Concurrent.

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not a correct explanation of A

(3) Aistrue but R is false

(4) Ais false but Ris true

FHooql HHATATE AT /SPACE FOR ROUGH WORK

A
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78. @l faum fewa =
3. WA e Tiee AR § iR eed SevE B
7. IR & I=9 TETAITEN SR rmal
F. e IH FRIAS T Y 3T
3. 0% AH RETR Uil 3T
FOe v faus avlavaR/a?
(1) sarfrs (2) € 3nfrs (3) Fanfire (4) ®anfre
Consider the following statements : _
A. The firstSheriff of Mumbai after independence was Shantaram Mahadeo Dahanukar
B. The Sheriff is an officer of the High Court
C. The tenure of the Mumbai Sheriff is five years
D. The rank of the Sheriff is below the Mayor
Which of the statement/s given above are correct?
(1) AandB (2) BandC (3) BandD (4) CandD

79. @relie foum fo=mme = .

A, eI, WO FRER AR S Ade sren FiorEl Tt i w3
T WTEATAT AHAREE = AR fhan = srfter=aiene |ed srua fomed |gaar
It

. TETE TSI TeAUTATe TsgTea] hidr AR STiid 3 S8 ST HveE
ATt FaefE FR, YR SR ORdia, N wehe a1 [ At aee

v e droaan ¥,
(1) foum st (2) faum 7 S0
(3) = farme SR (4) =R v g

Consider the following statements.

A. The President may, without the consent of the State Government, entrust either
conditionally or unconditionally to that government or to its officers, functions in
relation to any matter to which the executive power of the Union extends.

B. The Governor of a State may, with the consent of Government of India, entrust
either conditionally or unconditionally to that government or to its officers, functions
in relation to any matter to which the executive power of the State extends.

(1) Statement Ais correct (2) Statement B is correct

(3) Both the statements are correct (4) Both the statements are false

Hosdl HHTATS! AT /SPACE FOR ROUGH WORK
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80.

AT Fo foam g e ¢

(1) 38 i vz geedt AAfafram, 1975 JuR ATe8T 356 w] SHUATITS! YA FHMH Ffod
g ftaen areet aNfY cenTera SivicaTel RTEATT FvTeTe) HROTHTE STETE a1 JuR T

(2) 44 wem geEd sftrfigm, 1978 TR TR FHYE § =TRis ifdmar=n Saamt
1d, =18 g S IR,

(3) wefARdaTaT R Teaere Yengd dfimeitdht s o R witieafaeg v gafdr=n
T AETITEE FTae 356 3=d HWATE HLdl Id.

(4) ST THET ATE

Which one of the following statements is incorrect ?

(1) Under the 38! Constitutional Amendment Act of 1975, satisfaction of the President
is final and conclusive in applying Article 356 which could not be challenged in any
Court on any ground.

(2) The 44th Constitutional Amendment Act of 1978 implies that the satisfaction of
the President is not beyond judicial review.

(3) Secularism is one of the basic features of the Constitution. Hence a State
Government pursuing anti-secular policies is liable to action under Art. 356.

(4) None of the above

81. Wreliiydh HoTe wfvdi fawadia darad U s gaad ?
(1) ety Agar A (2) ATNF Hegar !
(3) FHAE AT A (4) 2. ver. . gus givd)
Which among the following committees recommended a two tier system of Panchayat raj ?
(1) Balwant Rai Mehta Committee (2) Ashok Mehta Committee
(3) Vasantrao Naik Committee (4) Dr. L. M. Sanghvi Committee
82. vaMEd Wiydien srEmAe ¢ " Tgee W,
(1) =qT=fersh T (2) ¥9g T
(3) #EwAT Iy (4) Forem Tama
Panchayat Samiti is known as “ " in Assam.
(1) Anchalik Panchayat (2) Janpad Sabha
(3) Mahakama Parishad (4) Zilla Panchayat
83. & §u§ AFRITRTR! T Her§ HEHTIIeie! FHIa T e 9.
(1) 1988 (2} 2001 (3) 1888 (4) 1788

The Municipal Corporation of Greater Mumbai functions according to the Mumbai
Municipal Corporation Act

(1) 1988 (2) 2001 - (3) 1888 (4) 1788

HoodT HIFIE! ATT/SPACE FOR ROUGH WORK
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84, TEFTRUTICTR= Wicliel M foama w2 o7t wndh! wivred! 1 e1framd o o afiesan
A, SFH-gR TR FA
9. TGO & H
%, Wi 9 Ivo AT et s O
2. YA g g e vl g 3EvTe w1
Fietd @ity fee
(1) Asma (2) @, aamme  (3) A (4) 0 9d
Consider the following functions of Muncipal Corporation and |dent|fy that which of them
are obligatory functions ?
A. Registration of births and deaths.
B. Protection of the environment.
C. Making provision for secondary and higher secondary education.
D. Construction and maintenance of the bridges and publlc roads.
Choose correct options from above
(1) Aand B (2) A,BandD (3) Aand D (4) All the above

85. TR SE U (Feh Hgs) TR

3. FWI! q. T
F. @Bt 2. @eht
(1) SR A, 9, F (2) SRA, F, T
(3) TR A, F, B (4) BT A, 4, T
The Cantonment Boards in Maharashtra are
A. Kamptee B. Badnera
C. Deolali D. Khadki
(1) OnlyA,B,C (2) OnlyB,C,D
(3) OnlyA,C, D (4) OnlyA,B,D
86. FRUcTEHH! Feesi! Uaelt TRS are AR YRl gae gewhE famy
IooRE R Tee=1 ST STTEEAe uard e 38,
(1) 3= (2 = (3) @& (4) ¥
12th Schedule of the Indian Constitution Specifically mentions types of weaker
sections in the society to be taken care by the municipalities.
(1) Two (2) Three (3) Six (4) Seven

HEST HIHTHTS ATT/SPACE FOR ROUGH WORK



35 P10

87.

R ?

(1) 72 &t gege! (2) 73 ) geAgEE

(3) 74 < gemgef (4) 76 o wegE

Which amendment Act of the Indian Constitution added provisions regarding
municipalities ? :

(1) 72" Amendment (2) 73 Amendment

(3) 74th Amendment (4) 76 Amendment

STRATA TUTIT Sraid! afeeft TR aRtee S 8 ?

(1) &= (2) el (3) #x™® (4) feeeht
Which was the first municipal corporation established in India ?

(1) Bombay (2) Calcutta (3) Madras (4) Delhi

89.

HERIE, NEFTRaTcTehl FIIETIH FeFPRUTehAsa sl aftcimes LSEL2)
g iR,

(1) 10 (2) 12 (3) 16 (4) 15

According to the Maharashtra Muncipal Corporation Act the standing Committee of the
Municipal Corporation shall consist of Councillors.

(1) 10 (2) 12 (3) 16 (4) 15

90.

73 T UG FIERITIER TR U9 @R e sefvamad] wHiq wHt fhd aamatar
ST YT TR 7
(1) 18 ¢ (2) 25ad (3) 21 = (4) 30§

According to 73™ Constitutional Amendment Act, the minimum age for contesting
elections to the Panchayat Raj Institutions should be

(1) 18yrs. (2) 25yrs. (3) 21yrs. (4) 30yrs.

91.

74 =1 HeA1 SR FEER WA SR S0 ST Taay I AT 7

(1) 9 srge=h (2) 10 gt

(3) 113 o7gg=h (4) 123 orggh

Which Schedule is added to Indian Constitution by 741" Constitutional Amendment Act ?
(1) 91 Schedule (2) 10" Schedule

(3) 111 Schedule (4) 12" Schedule

FHoedl HWTHIG! ARM/SPACE FOR ROUGH WORK
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92. VR TsuaE=] TRISH STHETe) Tafcienre fbd Rt /S e twam et o 7
(1) 29 ) 18 3) 25 @) 22

How many functions responsibilities of the municipalities are listed in the 12t Schedule
of the Indian Constitution ?

(1) 29 @) 18 3) 25 (4) 22

93. e ¥l - (WRATdS qreiys ) ¢

L3 ¥ «_1

A q
A1 i e i. Té (ST=) g
9. S A ii. TETeaT e
&, HaTIW Yehed iii. 281,23, FomE
3. aEd A v, Ty 2R
H o < S
(1) iv i i i
@) .iv i [ i
@ i v i i
(4) iii i ii iv
Match the pairs (Community Deve!dpment in India) :
Y B’
A. Shriniketan Project i. Mumbai (Bombay) Government
B. Badoda Plan il. Mahatma Gandhi
- C. Sevagram Project iii. V. T. Krishnamachari
D. Sarvodaya Plan iv. Ravindranath Tagore
A B C D
(1) iv i i i
(2) iv il i i
(3) iii v i ]
(4) iii i it iv

FHTT HHWTE! AWT/SPACE FOR ROUGH WORK
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94.

FITT A [T 3o,

3. Thginm, demer 9 el 91 UaiET 73 9 gt gERh S R A,
q. 73 <ft g et STHEASEr FHOM WeR TS 76 ol I1TR.
(1) wFa o (2) wd

(3) = amfor & S (4) 2T 3TTOT 9 St AT

Select the correctstatement/statements -
A. 73" Constitutional Amendment is not applicable to States of Mizoram,
Meghalaya and Nagaland
B. Madhya Pradesh is a first State, to implement the 73™ Constitutiona! Amendment
(1) Only A (2) Only B
(3) BothAandB (4) Neither Aand B

73 =1 U Gkt Sq g e e -

A, I FIER T TS o HauTie <& Svama e

o, 1 GEAER TEEG T H1el U o ST T v st

&, I T gekii el T fohen fafde R ge Reh ame

3. I GEIE AT HOR FYH T4 2 ToedH . _

(1) B A, 9 (2) %A 9, & (3) v+, 8 (4) TR A, &
Select the incorrect statements about 73" Constitution Amendment —

A. This Amendment gives Constitutional status to Panchayat Raj

B. This Amendment establishes State Financial Commission for Panchayat Raj
C. This Amendment exempts some States and certain areas ”
D. Rajasthan became the first state, to implement this amendment _
(1) Only A, B (2) OnlyB,C (3) OnlyC,D (4) OniyA,C

96.

ERAEYH! HaTed AR S HaTeageR w6 9 399 e [t
: i e e A ?

(1) ¥vEvg vt Frarer 1973

(2) wa. i, et Frarer 1982

(3) Tim K Hestrheg M Wi oY, farer 1993

(4) Tararh Parer 1992

Which of the following Judgement started system of collegium in the appointment of
Supreme Court and High Court Judges ?

(1) Keswananda Bharati's Case 1973

(2) S.P. Gupta Case 1982

(3) Supreme Court Advocates on Record Association Case, 1993

(4) Ramaswami Case 1992

FHeqT HIHETS AT/SPACE FOR ROUGH WORK
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97. WicieTih! VT STefi=aT TR 3w {2 arfee areefia e 3a e ?
(1) 2 AREFRYT I T/ TThed el 78
(2) W2 FHrEE) IF )/ Tewry el A
(3) W wermgE FeAE I /Moo Ael @
(4) 2 Yafife == ¥ e @
On which of the following grounds, Writ of Certiorari can not be issued ?
(1) Where there is error of Jurisdiction
(2) Where there is error of law apparent on the face of record

(3) Where there is error of facts apparent on the face of record
(4) Where there is violation of principles of natural justice

98. Iod ARTATCH] FARAF 9 HTeRRIEAT SITWIA SHe= el

g TR |
A 215 _ i. TR FdiE gram FRide TaT Wa:se J1f wE Uy
. 227 i, THde SrftreRTa
%, 228 il AT ST FEd YR TR
2. 235 iv. W EERE 5 AfFHRr
H g & K4
1) i Wi v
(2) u i v i
(3) i i v i
(4) iii i i iv
Maich the following‘ regard power and jurisdiction of High Courts.
Articles Provisions
A. 215 i. Withdraw case before subordinate court to itself
B. 227 ii. Power of Superintendence
C. 228 iii. Power to punish for contempt of court
D. 235 iv. Power to control over subordinate courts
A B C D
(1) i i i v
@ i v
() i i v i
(4) i i i iv

HEHT FHTATS! AR/ SPACE FOR ROUGH WORK



99. WiIHH T TILITHR YaT=d <RTERRe U0 =R §ed a@iae il el 9 7
(1) YRR TST wedl A8 124(2)
(2) Wl <8 wigan, 1860
(3) waTew =mEEE (= we) swifam, 1956
(4) FHAth FomE T
The number of judges of the Supreme Court of India is maintained from time to time by
which of the following provision ?
(1) Article 124(2) of the Constitution of india
{2) The Indian Penal Code, 1860
(3) The Supreme Court (Number of Judges) Act, 1956
(4) None of the above

100. ErEha Jum sEeR F1,
¥, T T FRGHI AEER W § ARCE A hia0s Jode T8,
9. “‘wiftrpa miverrat’ a1 FaaR e seane sRwE Ragaa @i (PIL) @
T[T 3337 ATl

el RER S T 7T e,

(1) foum ‘& s orga favm 9 9% o

(2) I oo™ SR RA T A=A AR TEgaY A1

(3) et fen e o § TRENEl gEI Rd

(4) foum ¥’ g% Wy @ foum ‘o’ @ 7 o

Consider following statements :

A. The essence of judicial activism is an active and efficient justice delivery.

B. Liberatisation of “Rule of Locus standi” has introduced the Public interest

Litigation (PIL).

Which one of the following options is correct ?

(1) Statement ‘A’ is correct and statement ‘B’ is incorrect

(2) Statement ‘A’ and ‘B’ are correct but they have no correlation with each other
(3) Statement ‘A’ and ‘B’ are correct and they are consistent with each other

(4) Statement ‘B’ is incorrect but it is complementary to statement ‘A’

THesgT SHIHTETE ATT/SPACE FOR ROUGH WORK
A ' P.T.O.
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1l - (q8 1984 Ye....)

(8) gL ffa Fow fifire srfta #ed wm (T o ) = . Tyl STl
TN O FITETE shed M HodTd § 0l FOATAT JeqH el 718, I WA T F AHR
SHESTIER IEAM ST Fhetean | whermed Som=a1 NuHRiAT Wast s aftfm-g2’’
Al RGN FREE Foas Ae 9 Il syad] FHTe U auten sroarETen anftn/fEa e
U BN =] Ser fR18id U BEa.

(9) ¥ SEUBERES SETH fafia el 98 IeAHE SHGERIET € YT W@ sl
WIRATETR U3 A WE 7. T WILTEReTTETet ATy e SHEaHI ATgedT
TAAR OO — 1 GHAUFHE 7 TAEET W {0 T 2.

G199
%, 3. 201, Weith 9@ 52 FoaEEt Sof ged: S o 7
(1) =t guHgE s (2) syat=s feamrm
(3) T w1 (4) TITESFT TIRE

T ST A I () T TR T 3R IR e A S I (3) B, o7
Greftay T 991 %, 201 9HHE IT-FHE @) 2 I ian orifhd w4 qrafan)
ETH AR

5200 ® @ @ @

mmﬁu@m@ﬁammmmmxm-mmmmgﬁﬁm
ITIRhEE o S THEHHEHE Fafia Tde ol ot e SrEaEl. FeRiEr
Thad AT YTEN SiduA araia, Ufe o1 sies O 9ee A,
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